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Q.2

Q3

Q4
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Q.6

Q.7

Q.8

ENGLISH

My sister ......... in New Delhi for many years
but she .... To Mumbai soon.

(A) Had lived, moved

(B) Has lived, may move

(C) Will live, May move

(D) Has been living, moved

[T the exhibition yet.

(A) Am not seeing

(B) Have not been seeing

(C) Haven'’t seen

(D) Hadn’t seen

We ............ Mrs. Verma, When we were in
Delhi.

(A) Have met

(B) Will See

(C) Met

(D) Are meeting

This dress suits her style. She ..........
Definitely like it!

(A) Can (B) Could

(C) will (D) May

During peak hour, it ...........: take more than
two hours.

(A) Can (B) Should

(B) Shall (D) will

How ........... she do that to us!

(A) Would (B) Must

(C) Could (D) Shall

The chief taught his tribesmen how to use a
short spear.

(A) The tribesmen were taught how a short
spear-.is used their chief.

(B) The tribesmen were taught how to use a
short spear by their chief.

(C) The tribesmen taught the chief how to
use a short spear.

(D) The tribesmen taught the chief how a
short spear is used.

You can obtain milk at the dairy farm.

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

(A) Milk is obtainable at the dairy farm.

(B) Milk at the dairy farm is obtained by
you.

(C) Milk at the dairy farm obtained by you.
(D) At the dairy farm milk obtained by you.
Regular exercise is conducive .............

Health.
(A) In (B) to
(C) For (D) of
He was annoyed ........ my brother.
(A) For (B) At
(C) With (D) To
MATHS

Which of the following is not irrational?
el & & 7 a7 safEg T81 82
(A) (2-V3)2

(B) (V2 +V3)2

(C) (V2 — V3)(V2 +V3)

(D) 2¥

The product of a rational and irrational
number is

T TRHT ST STOHT €& FT A6
(A) Rational TF# T

(B) Irrational 3TafadT

(C) Both of above AT

(D) None of above FTg T-%)r

Three farmers have 490kg, 588 kg and 882
kg of wheat respectively. Find the maximum
capacity of a bag so that wheat can be
packed in exact number of bags.

e ferETaT & 9TE wAer: 490 T, 588
R i 882 oI i 21 T AT AT
SATErHTH SHAT AT Y qAT1h g I qelF
AT | O H 9 T ST |

(A) 98kg (B) 290kg

(C) 200 kg (D) 350 kg

If one Zero of the quadratic polynomial



Q.15

Q.16

Q.77

Q.18

x>+ 3x+ k is 2, then the value of k is

7f% fZ=Ta agus 1 UF O

X2+ 3x+ k28, ATKFT AT &

(A) 10 (B) -10

(C)5 (D) -5

A quadratic polynomial, whose zeroes are -
3and4is:

ue f3ETa agas, e g -3 =+ 4 2
(A) X*-x+12

(B) x*+x+12

(C) x*-x-12

(D) 2x*+2x-26

The zeroes of the quadratic polynomial

X2+pX+p, p is not equal to zero then,
IECIE TgI= X2+pX+p D qTF, p LA ED

(A) Both equal ST IXTI¥

(B) Both cannot be positive

TAT GgATHT Aol gl Tohd

(C) Both unequal AT IEFHTH

(D) Both cannot be negative

The pair of equations 7x-y=5; 21x-3y.= 10
represent two lines which are

TH RO &Y STIeT 7x-y=5; 21x— 3y = 10 =¥
YETeR T SR AT o E

(A) Intersecting at one point

T [ I Iid=ag FAT

(B) Parallel IHTATAT

(C)intersecting at two points

a1 foget ax afa=eg FAr

(D) Coincident FXTY

The graph of X=-2'is a line parallel to the
X=-2 &l UTH TF AL LT 5

(A) x- axis

(B) y- axis
(C) Both x and y axixs @1

(D) None of these s A&l

Q.19

Q.20

Q.21

Q.22

Q.23

Q.24

Q.25

The value of k, for which the system of
equations X+(k+l)y =5 and (k+l)x + 9y = 8k -1
has infinitely many solutions is

K =T 97+, forees fore aefisreor X+(k+)y =5
AT (k+)x + Qy = 8k -1 F¥ TUITSAT F 31T T

o FS AT 3
(A) 2 (B) 3
(C) 4 (D)5

The quadratic equation has degree

fgema wrefiemeor & =367 gt &

(A)O (B)1

(C)2 (D)3

The equation 2x2 +kx+3 =0has two equal

roots, thenthe value of k is

FHIHTT 2%2 +kx+3 =0 % a7 FHH A &, Al

k 3T T 2
(A) +V6 (B) 14
(C)+3v2 (D) +2V6

The sum of the roots of the quadratic
equation 3x2-9x+5 =0 is
fama TR 3x2-9x+5 =0 F AT T AN

e
(A) 3 (8)6
(€)-3 (D)2

If one root of the quadratic equation
equation 2x2+kx-6=0 is 2, the value of k is
Tt feama aefiseor aHRTr 2x2+kx-6=0 &7
TH A2, ATKFTATEG

(A)1 (B) -1

(€) 2 (D) -2

If p,q,r and s are in A.P. then r-q is

I p,qrdoTsAP. HEATr-q 8

(A) S-P

(B) S-q

(C)S-r

(D) None of these T | FIS H%lr

If the sum of three numbersin an A.P.is9

and their product is 24, then number are



Q.26

Q.27

Q.28

Q.29

Q.30

Q.31

Q.32

Tfz et AP, & i Hearsti 1 TR 9 § ST
SHHT UARA 24 7, T HEATT &

(A) 2,4,6 (B) 1,5,3

C)2,8,4 (D) 2,3,4

n™ term of an A.P.5,2,-1,-4,-7, ..... is
AP.52,-1,-4,7,. . ¢ nal g g

(A) 2n+5 (B) 2n-5

(C) 8-3n (D) 3n-8

The sum of all two digit odd numbers is
T a7 I Forow FEATH FT AT
(A) 2575 (B) 2475

(C) 2524 (D) 2425

In ABC, DE Il AB. If CD=3 cm, BE=6 cm,
EC=4cm then DA is equal to

ABC, DE Il ABH| Ife CD=3 94T, BE=6 THT,
EC=4 HHT T DA TXTa< &

(A) 7.5cm (B) 3cm

(C)4.5cm (D)6'cm

In a square of side 10 cm, its diagonal =
10 FHT ST ATA T G371 H, THDT o0l =
(A) 15cm (B) 10v/2cm

(C) 20cm (D) 12.cm

The distance of the point P(2,3) from the x-
axiss

x-31e7 7 &g P(2,3) AT T g
(A) 2 (B)3
(€)1 (D) 5

The distance between the point P(1,4) and
Q(4,0) is

fHg P(1,4) T Q4,0) F AT HI T T

(A) 4 (B)5

(C)6 (D) 3v3

If (a/3, 4) is the mid point is the point of the
segament joining the points,P(-6,5) and R(-
2,3), then the value of ‘@’ is

Q33

Q.34

Q35

Q.36

Q.37

7f% (a/3, 4) [g P(-6,5) 3T R(-2,3) & ST+
A FT A &g, AT 'a' F A B

(A) 12 (B)-6

(C)-12 (D)-4

Given thatsina =% and cos b =%, then
the value of (a+b) is

Ta’é‘@%rg'qﬁ?sinaﬂ/ﬁﬁTcosb:Vz%,?ﬁ

(a+b) FTHE E
(A) 0° (B) 30°
(C) 60° (D) 90°

If A+B =90°, cot B = % then‘tan A'is equal
to:

Ffa A+B = 90°, cot B = % dF tan A TLTT &
(A)5/3 (B)1/3

(C)3/4 (D) %

The tops of two poles of height 20 m and 14
m are connected by a wire. If the wire
makes an angle of 30° with horizontal, the
length of the wire is

20 H1eT 3T 14 HieT FATS AT &7 @91 ®
of Y U O & 9= g0 2| Te a1 &Afas &
30° T 0T FATAT g, AT AT AT A4S &

(A) 6M (B) 10m

(C) 12m (D) 20m

The angle of desperssion of a car, standing

on the ground, from the top of a 75 m high
tower is 30°. The distance of the car from
the base of the tower is

75 Hie 3 Zra% F oftd & i 7% =y
T FHTC T AFATET H0T 30°8| AT *
MIT T AL HI T &

(A) 25V/3 (B) 50v3

(C) 75V3 (D) 150

The angle of elevation of the top of a tower
from a point 20 meters away from its base
is 450. The height of the tower is

T 2TaY % AT F 20 Hed gL UF &g &
I Sf T T ITAT FIT 450 Bl 1AL i

AR



Q.38

Q.39

Q.40

Q.41

Q42

Q.43

(A) 10m (B) 20m

(C) 30m (D) None

The area of the circle is 154 cm2. The radius
of the circle is

I AT AEA 154 TH2 81 97 A Broar g
(A) 7cm (B) 14cm

(C) 3.5cm (D) 17.5cm

The length of the minute hand of clock is 14
cm. The area swept by the minute hand in 5

minute is

T=T T e 7 2 7 =re 14 T 2
e &t 72 g 5 fee 5 @ o T o
g

(A) 153.9cm2 (B) 102.6cm2

(C) 51.3cm2 (D) 205.2cm2

The area of a circle whose circumference is
22 cm,is

U T T &AEA Toreeht afefer 22 T g,
(A) 11cm2 (B) 38.5cm2
(C)22cm2 (D) 77 cm2

The total surface area of a hemispherical
solid having radius 7 cm is

7 BT 53T AT U AR 3 T o
qqg A% &

(A) 462 cm2 (B) 294 cm?2

(C) 588 cm2 (D) 154 cm2

A cylinderand a.cone are of same base
radius and of same height. The raito of the
volume of the cylinder to that of the cone is

U oo SliY Teh & THIT AT F=reaT oY
THIT F9Ts & | S o A AT &4F 6

I F TIT &

(A) 2:1 (B) 3:1

(C) 2:3 (D) 3:2

A solid formed on revolving a right angled

triangle about its height is

T THAFOT FH9S T ST FATS o T
TTGHRHT FA I¥ U S 9947 &

(A) Cylinder =T

(B) Sphere Tt
(C) Right circular cone FFATIIAT &%
(D) Two cones T 9%

Q.44 If the side of a cube is 3 cm then find the
volume of cube
Tfe Foreft = ot oo 3 |t § a7 °J A
AT ST HIoTT
(A)9 cm? (B)27 cm?
()3 cm? (D) 12 cm?

Q.45 Find the total surface area of a'cube which
sideis4/m
S AT A FA IS0 ATES AT o1
R o 4 e 3
(A)64 m* . (B) ~ 24 m?
(C)96 m* (D) ~ 108m’

SCIENCE

Q.46 Magnesium ribbon is rubbed before

Q.47

burning because it has a coatin of

TR R 7 ST & Iger WET STl
g Fih TaH fohaet 93d gl g

(A) Basic magnesium carbonate

T HHf=w Fraide

(B) Basic magnesium oxide

T St st

(C) Basic magnesium sulphate

I o aehe

(D) Basic magnesium chloride

T Fefifos Ferse

Which of the following are exothermic
processed?

et 5 & frT SoaTerdt srfstwar g
(1) Reaction of water with quick lime

T T o G AT T AR

(2) Dilution of an acid

ToRelt oT%et T It g

(3) Evaporation of water

AT T FTSHHT0T




Q48

Q.49

Q.50

Q.51

(4) Sublimation of camphor(crystals)
FY (Treeer) &1 IeadTaq
(A)1and2 (B)2and 3
(C)1and4 (D)2and 4
Give the raito in which hydrogen and

oxygen are present in water by volume.
g AT TATSC Ored qIT § greg o
ST SISt 97T o fgaTe & #i9E 2|
(A) 1:2 (B) 1:1

(C)2: (D) 1:8

When Ag is exposed to air it gets a black
coating of

ST Ag T 4T o T § SATIT SITdT 8 av S6
X AT I3 A€ AT &

(A) AgNO; (B) AgaS

(C) Ag20 (D) Ag2COs

Which of the following is an endothermic
process?

Fraferfaa 5 o 319 o v dergtas g
a?
(A) Dilution of sulphuric acid

TeF [ TS AT TG0

(B) Sublimation of dry ice
Tt T AT ILAATAA

(C) Condensation of Water vapours

STATST T HHA

(D) Reespiration in human beings

ageA H AET

In-the double displacement reaction
between agueous potassium iodide and
aqueouslead nitrate, a yellow precipitate
of lead iodide is formed. While performing
the acitivity iflead nitrate is not available,
which of the following can be used in place
of lead nitrate?

ST T ARTEE AT TAT A2
ATz F d1 qrgr e wiathar °, 9
ATITRSTEE T UF HTAT ATT F9aT 2
wiafaty wa oo 7fT o AT Suesy

Q.52

Q.53

el g, AT € ATsce % &I\ 9¢ Aeforied o
o FoheeRT START 63T ST 9haT 52

(A) Lead sulphate (insoluble)

T Hothe (refaraefien)
(B) Lead sulphate

T Fohe

(C) Ammonium nitrate

DELETED

JHHAIT ATZ e

(D) Potassium sulphate

T Fothe

Name the products formed when‘iron filling
are heated with dilute hydrochloric acid
FTe ol O TS S Ial1Leh Seel o |TeT 0
T UL A ATl SCATAT o ATH FdqTs0
(A) Fe(lll) chloride and water

Fe(lll) FT18S ¥ 91T

(B) Fe (1) chloride and water

Fe (I1) FATETES S qT=Y

(C) Fe(ll) chloride and hydrogen gas
Fe(ll) FATSE T grEg o 19

(D) Fe (Ill) chloride and hydrogen gas

Fe (Ill) FAIRTSE 3T BTSS oA 49

Which one of the following salts does not

contain water of crystallization?

fFraferfera & & g otaor & freectiseor 1 St 78t

Q.54

=TT 27

(A) Blue vitriol =T fafezrer

(B) Baking soda H1=T HI=T

(C) Washing soda €[S T HIT

(D) Gypsum foreay

What is formed wehen zinc reacts with
sodium hydroxide.

9 o7 S H gregiaaTse & a1
SATTRAT FTaT g T FT a9aT 87
(A) Zinc hydroxide and sodium

i gTegiadTse ST AIeaH
(B) Sodium zincate and hydrogen gas
e Riehe i grege 19

(C) Sodium zinc oxide and hydrogen gas



Q.55

Q.56

Q.57

Q.58

Q.59

qIra R sieTse oY greg e a9
(D) Sodium zincate and water

qireaw Siehe 3T 91+

Tomato is a natural source of which acid
THTEY TohH STt T JTRTd &1d 87

(A) Acetic acid E@ﬁ‘lﬁ JFT

(B) Citric acid &TEfF TfHe

(C) Tartaric acid e Qﬁ‘s’

(D) Oxalic acid STFH eI 7T
Na,C03.10H,0 is

Na2C03.10H20

(A) Washing soda %T'IT'% FT AT

(B) Banking Soda =T A=t

(C) Bleaching powder sH{IT= T qT3EX
(D) Tartaric acid %= Qﬁ'&’

Sodium carbonate is a basic salt because it

isasaltof a

AT FTAAE T ATT THF g F1 16 TG
T T THF

(A) Strong acid and strong base
Ja TFA T T AT

(B) Weak acid and weak base
FHSIIT 3T AT FHANL 17T

(C) Strong acid and weak base
o FA AL AR AT

(D) Weak acid and strong base
FHSIT A 3T AT AT

In amoeba, food is digest in the:

FHTET § TSI T IT= BldT 2
(A) Food vacuole @T=r i<t
B) Mitochondria FT@EF\I'%'QT
(C) Pseudopodia TIAI=AT
(D) Chloroplast FATLATES

The exit of unabsorbed food material is

regulated by

FFeTIa G 9= #7 e o g
frifr ST 22

(A) Liver =fia¥

Q.60

Q.61

Q.62

Q.63

Q.64

(B) Anus I[aT
(C) Small intestine BT =1iq
(D) Anal sphincter raXrferT RE

Which Plant hormone promotes dormancy
in seeds but buds?

I AT ITET ZTHIT SIST1 T GISHT FiorAT
H GATIEAT AT FETAT T 27?

(A) Auxin 3faae

(B) Gibberellin fSra<fore

(C) Cytokinin TTSEI =

(D) Abscisic acid sTfeeq o Qﬁ‘s'
Moment of sunflower in accordance with
the path of sun is dueto

g3 & T & AET LT E! HT &0 e
LT 21T 872

(A) Chemotropism Tﬁmﬁaﬁ-rr

(B) Getropism ﬁ?ﬁﬁw

(C) Photropism W?]‘I’(ﬁ?ﬁr

(D) Hydrotropism GIT'I'ITEI?!L'-T

The longest fibre on the cell body of a

neuron is called

I o FHITART AT T T Ao aq il
FET STTaT &

(A) Sheath H=IT=

(B) Cytoplasm =TT T4

(C) Axon Q‘GFHBFT

(D) Dendrites @EAW

Main Function of cerebrum is
AT F T F &

(A) Thinking |1=r

(B) Hearing ﬂ_rl?l'lé

(C) Memory ITa

(D) Balancing Hqe

The number of pairs of sex chromosomes in

the Zygote of a human being is
ST o IS H [ol T Ol & S ahl
AT gl

(A) 2 (B)3



Q.65

Q.66

Q..67

Q.68

(€)1 (D)4

A man with blood group A marriesd a
woman having blood group O. What will be
the blood group group of the child?

T THg A a7 U &0 7 T 983 O a1
wigdr & fEarg T ag &1 T 998 998
FT ZIRIT?

(A) O only

(B) A only

(C)AB

(D) Equal chance of acquiring blood group

A or blood group O.

T THg T AT T<h 99g A STH HLd sl G991
GATAAT

The poorest conductor of heat among
metals is

TSN | HEAT T TaH GO ATAF §

(A) Lead HTHT

(B) Mercury 9mT1

(C) Calcium FHfeeraw

(D) Sodium HT=ETH

Which property of metals is used for.

making bells and strings of musical
instruments like Sitar and Violin?

TR ¥ AT Ster S0 arerg =i ot
HTeAT ST T a1 o (o7 GTqAT o (el
T T IHANT (T STAT 872

(A) Sonorousness HYZAT

(B) Malleeability sr@=T st TFadT

(C) Ductility AT

(D) Conductivity =teT

The highly rective metals like sodium,

Potasium, magnesium etc. are extracted by
the

qitea, qrefory, Tt sfe sreafas
i gTq0 e g [ReTedt St &2

(A) Electrolysis of their molten chloride

I T8t §U FARTSE FT SAFelo o™

B) Electrolysis of their molten oxides

Q.69

Q.70

Q.71

Q.72

o

I T8t U SiaTES T S o ad
(C) Reduction by aluminimum

TEH (I8 G FHHT

(D) Reduction by carbon

FTET G HHT

Exmple of an emphoteric oxide is:
SYEYHT AFITES T QT &

(A) Na,O

(B) K0

(C) Al,0s

(D) Mgo

The atomic number of an. element X is 12.

Which-inert gas is nearest to X?
e X Rl LAY HFiSF 12 g1 FHiT dF 700

T X & Heheaw 8?7
(A) He (B)Ar
(C) Ne (D) Kr

Galvanistaion is a method of protectiong
iron from rudftig by coating with a thin
layer of

TeafafEeae U qqefl Id | FHIT Feh
Alg T ESHIE F TATH 61 TF (AT g
(A) Galium #feraw

(B) Aluminium QF{FﬁﬁTIT

(C) Zinc ST&EAT

(D) Silver ffrea™

Reaction between X and Y forms

compound Z. X loses electron and Y gains
electron. Which of the following properties
is not shown by Z?

X T Y o = TIAehar & ATRE Z F94T g
X TAFSIT GIAT ¢ A Y TAFSIT JITH FHal
&) Frerforfar # & #7707 2 3T
T T 82

(A) Has high melting point

I TATTE FIAT &

(B) Has low melting point

FH ITAATH BIAT &

(C) Conducts electricity in molten state




Q.73

Q.74

Q.75

Q.76

Q.77

oot g2 saedT § fa=a &1 §91ad #3ar g

(D) Occurs as solid

Brer 3w F 21T 2

During favorable Conditions, Amoeba
reproduces by

A TR & sriar Ioe #ear g
(A) Multiple fission TaT e fa@e

(B) Binary fission fg@=« faEsa

(C) Budding TaIfed

(D) Fragmentation fa@s=

A feature of reproduction that is common t
o0 Amoeba, Yeast and Spirogyra is that

I T T feroroar S sfiar, e
TITSTREAT | W ¢

(A) They reproduce asexually

F AARTF & & TSHT HLd &

(B) They are all unicellular

3 mefy TR

(C) They reproduce only sexually
T AT ARME T T T Hd &

(D) They are all multicellular

¥ aoft g &

The flower of the Hibiscus plant is

=R T8 FT FA &
(A) Bisexual IIefT

(B) Unisexual o=
(C) None of these ENE) 'T&pf
(D) Very small a@ﬁ@%@(

The part of the flower which is present in

the center of the flower is

el FT a8 AN ST Fel o Hed | HIS[E 2ldl &
(A) Sepals sIg]aT

(B) Petals ‘T@ﬁ?ﬁ

(C) Carpels 3=7

(D) Stamens Elﬁﬁl‘(

If TAP is coded as SZO, then how is FREEZE
coded?

10

Q.78

Q.79

Q.80

Q.81

T2 TAP &I SZO & &9 § FITed FhIT ATAT E,
T FREEZE 3T ¥ HlTed [ohaT SITdT 87?

(A) EQDFYG (B) ESDFYF

(C) GQFDYF (D) EQDDYD

The seed that contains the future plant is
called the

g dToT e AT 7 9re4T AT &,
FEATAT &

(A) Cotyledons ssTa=r

(B) Seed coat SisTTareor

(C) Gern Cells SR IOt

(D) Embryo U1

The period of pregnancy is called
THATAEAT 0 AT Al gl a7 o

(A) Gestation period

TR T A A

(B) Incubation period

ST
(C) Ovulation ST T

(D) Menstruation period

qTiereR & FT
The process of release of eggs from the
ovary is called

ST ¥ 32 TAshere T WAt FgdTdt 8
(A) Menstruation H‘Iﬂﬂﬁ
(B) Reproduction 9511+

(C) Isemination 3T<A< T TATLTH
(D) Ovulation e TcaRT

SOCI/AL STUDY

The headquarter of the United Nation is at
HIH TTY HT GEATAT Fgl 8?

(A) Geneva ST

(B) Paris Uf¥&

(C) New York =IT1%
(D) Washington D.C aTfe e &



Q.82

Q.83

Q.84

Q.85

Q.86

Which of the following contries did not
attend the Congress of Vienna?

eferfea & & i 91 <91 o Fne &
TR AT gaAT?

(A) Britain fsre=r

(B) Russia &9

(C) Prussia IfraT

(D) Switzerland foraT

Soil is formed by the process of
gt 1 Ao e wferar & grar &2
(A) Denudation A= Tad

(B) Gradation 9ahH

(C) Weathering Weathering

(D) Erosion sheTa
Land left without cultivation for one or less

than one agriclural year is called

U AT UF | FH FH a9 q (o471 Gl F
GIET T A Fgerrel §

(A) Culturable Waste land

FT = w5 i

(B) Current fallow land

T Tl

(C) Waste land &<T¥ i

(D) None of the above T8 & @2 ¥t :@r

“There is enough for everybody’s need but
for anybody’s greed”.

"Z¥ TRl T Fedd o T i g At
et & e = ooy

(A)Jawahar Lal Nehru STATg L AT A2 &

(B) Atal Bihari Vajpai 32T fagm<r aTsius
(C) M. k. Gandhi TH. . T7eft

(D) Sunder lal Bahuduna & 1T g1

The first International Earth Summit was
held in

TedT AT I fOEy a7 Figl

CIRNIECRER IR IR

(A) Geneva fSraT
(B) New York =I&{s

11

Q.87

Q.88

Q.89

Q.90

(C) Japan SOt

(D) Rio de Janeiro =T €t s=faT

In red soil is red in colour because

AT T | ST &7 7 A1 2rav g Fi 16
(A) Itis rich in humus.

THH TLAR T ATATH LT 2

(B) It is rich in iron compounds.

Tg A ATRHT F 93IT 2

(C) It is derived from volcanic origin.
SHET ICAT SATATHE T Scdi 9 g% &
(D) It is rich in potash.

THH TTeTe T=L JIAT H 2iaT 2l
Under which of the following type of

response can tidal energy be put?

SATET Tt ) (Aeforted § & e s it
STQshAT % AT TET ST Hhal 872

(A) Replenishable TsZuftr

(B) Human made AT

(C) Abiotic IrTa

(D) Non renewable % Fi=vofta

Power sharing is:
T H qTHAIL &

(A) The very spirt of democracy

TR T SATCHT

(B) Separation of Powers at different levels.
farfere =a2i uw erfxeat =1 qageom

(C) System of checks and blances

= ST AT il T

(D) A type of balancing powers.

TS THTL il T Tl

Which of the following subjects is not

included in the state list?

Fonifor T it i 2 a1 Fanp 1o 41
ofirer 7t 22

(A) Law and order T T SHTEAT

(B) National defence TTgT FZ&T

(C) Education faremr

(D) Agriculture T




Q.91

Q.92

Q.93

Q.94

MENTAL ABILITY

Six persons Prudvi, viplav, Ravali, Sitara,
Taman and Udit have different heights.
Taman is shorter than Ravali. Sitara is taller
than two person.Prudvi is shorter than
Viplav, but taller than Ravali. Only Udit is
taller than Viplav. Who is the third tallest?

A 3T AT FATS AT-IRT 81 THA TFAT
T Zrer 5| oA a1 stedt & |6t g1 g2t
A & Y 8, Ao Trareft & =t &1 Far
Staa facera & e g1 S qe a1 Fid
?

(A) Ravali Tt

(B) Prudvi {3

(C) Viplav o=t

(D) Taman dHA

In a row, Rahul is 30" from the front and

45" from the back. How many people are
standing in that queue?

ue IfxE §, T anr § 305 #f fiw 7 455
AT 9T 8| 39 Fae | g aRT @8 57
(A) 72

(B) 73

(C)74

(D) None of these None of these

Rank of Kamla'is 8 ahead that of vidya in a
class of total students 42. The rank of vidya
is 26. Now.calculate the rank of kamla.

T 42 FARTIHAT ATAT HeAT | FHHAT o0l 2
e & 84T 21 fa=m it ¥ 26 )1 o7 Fr
T o 2T U AT |

(A) 23 (B) 24

(C) 25 (D) 26

In a row of boys, one tree is ranked as 16™
from left and 8" from right. Calculate the
number of boys who should be removed to
make it a total of 17.
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Q.95

Q.96

Q.97

Q.98

AEDI il T qi<h §, T U 970 § 169 3T
T(T | 89 TATH IT | IT ASh[ il H&AT 0l

VAT F¥ oIeg ZeTAT AT ATRT qTleh T

F 17 81 S
(A) 2 (B)3
(C)4 (D) 6

Ais brother of B. B is the son of C. D is C’s
father then what is A of D?

A, BFT ATE g1 B, CRT I g1 D, CHT AT &
qT D T A FT 82

(A) Brother TS

(B) Son =T

(c) Grandson T

(D) Grandfather 3TaT

A'is the father of Cand D is son of B. E is
brother of A. If Cis sister of D, how is B
related to E?

A, C&T fIaT 8 3fiX D, BT TA 5| E, A FT 9ITS
gl 7t ¢, DFT ag ¢, AT B, E & FoFeT Toh1Y
Tated g?

(A) Brother 9IS

(B) Sister =g

(C) Brother in law 9GT<IT

(D) Sister in law Sister in law

A woman introduces a man as the son of
the brother of her mother. How is the man
related to the woman?

U HigaAT Uk T80 &1 I=T T9I=1 Al
HTE & o & &9 | FHdl gl T&T T AlgaAr
o FAT HeeT g2

(A) Nephew 9i=TT

(B) Uncle =T=T

(C) Son &I=T

(D) Cousin F=¥T

A man said to lady, ‘Tour mother’s
husband’s sister is my aunt’. How is that
lady related to that man?



Q.99

Q.100

T St § A & #7, Tw At F iy Ay
e AL AT 7| A HigAT 59 R & e
THRTT FEATEdT g2

(A) Daughteré’rﬁ

(B) Grand daughter‘ﬁ‘cﬁ

(C) Sister s

(D) Mother T

Pointing to a photograph, a man said,

lII

have no brother or sister but that man’s
father is my father’s son”. Whose
photograph was it?

T TEAIT il AT ST T gU, T AGHT
7 T, AT TS AT AT B T A
I AT T AT WY AT w1 aer gt 7w
[ELEAR L IEERIF

(A) His son’s 3% T

(B) His father’s S&e foaT 71

(C) His nephew’s 37 WISt T

(D) His own 3199 @

A is mother of B and C. If is husband of C,
then what is A fod D?

A, B ST C T |1 g1 I3 C&T 9T 5, af A fod
D F97 87?

(A) Aunty%ﬂ%ﬁ

(B) Mother Ht

(C) Sister &g

(D) Mother. in law Mother in law+

DELETED

13






